A2 eEoSILEFER) SRIEA (BA:M) [202243A12BR A5 H 5]

BEREREERFH: KA

—_ % s 2 sy
mm | % | xm | me | 2E | s | B | anr | garw | e | BH | gy | TEP
AT % s
=Y 5,050 4,840 4190 4190 4190 4190 3,300 3,300 3,300 3,300 2,540 2,540 1,870 KAl
=5 =5
£z 5,380 5,160 5,160 4520 4520 4520 4520 4520 3,630 3,630 3,630 3,300 1,870 1,870 FZE=HA
an ax
E 5,710 5,500 5,420 5,420 5,420 4,860 4,860 4,860 4,860 4,860 3,630 3,300 2,640 1,870 1,870 =1
= 6,250 6,040 5,620 5,620 5,620 5,620 4,860 4,860 4,860 4,860 3,630 3,300 2,640 1,870 1,870 1,870 ES =
£iR 6,250 6,040 6,040 5,620 5,620 5,620 5,620 5,620 4,860 4,860 4520 3,300 2,640 2,640 1,870 1,870 1,870 £iR
XTEHDRIZIZK, JEREEELADEELGYFETS,
BEBEEIEERFEA /MR
= k4 = PR —_ %7 o - AN
wE | kB | kT | R RE | o | RPR | gun | gpaw | rm | £ | g | TEP
T % b
LAl 2,520 2,420 2,090 2,090 2,090 2,090 1,650 1,650 1,650 1,650 1,270 1,270 930 KAl
EET CET,
FLE 2,690 2,580 2,580 2,260 2,260 2,260 2,260 2,260 1,810 1,810 1,810 1,650 930 930 FE
=1 BR
=1 2,850 2,750 2,710 2,710 2,710 2,430 2,430 2,430 2,430 2,430 1,810 1,650 1,320 930 930 =1
| 3,120 3,020 2,810 2,810 2,810 2,810 2,430 2,430 2,430 2,430 1,810 1,650 1,320 930 930 930 e
iR 3,120 3,020 3,020 2,810 2,810 2,810 2,810 2,810 2,430 2,430 2,260 1,650 1,320 1,320 930 930 930 %R

KOREDEIZIT, AIBRREENVRELLGYFET,

1/5R=2




A2 eEoSILEFER) SRIEA (BA:M) [202243A12BR A5 H 5]

mJ)—VER: KA

— k4 == Ll /N E—u = N k4 i 'l\
wm | £ | xm | & AE | oy | BPR | gan | pae | rm | B5 | gy | TEY
BfgH % =

%4l | 10540 | 10,330 | 9,680 9,680 8,290 8,290 7,400 7,400 7,400 5,900 5,140 5,140 3,170 | K&l
25 28
FE 10,870 | 10,650 | 10,650 | 10,010 | 8,620 8,620 8,620 8,620 7,730 6,230 6,230 5,900 3,170 3170 | =58
BR BR
= 12,700 | 12,490 | 12,410 | 12,410 | 11,020 | 10,460 | 10,460 | 10,460 | 10,460 | 8,960 7,730 7,400 5,440 3,170 3,170 =1l
=M | 13,240 | 13,030 | 12,610 | 12,610 | 11,220 | 11,220 | 10460 | 10,460 | 10,460 | 8,960 7,730 7,400 5,440 3,170 3,170 3170 | Haf
£iR 13,240 | 13,030 | 13,030 | 12,610 | 11,220 | 11,220 | 11,220 | 11,220 | 10,460 | 8,960 8,620 7,400 5,440 5,440 3,170 3,170 3,170 2R
XCRBEOEICE. EREENDEELYET .
my)— ER:NR

3 k4 = BB HpN E—3 % N k4 ( Il\

wm | £®m | xm | & AE | oy | BPE | g | gae | tm | By | gy | TEY

BiiH % =

&)l | 8010 7,910 7,580 7,580 6,190 6,190 5,750 5,750 5,750 4,250 3,870 3,870 2230 | RA&l
25 2
FIs 8,180 8,070 8,070 7,750 6,360 6,360 6,360 6,360 5,910 4410 4,410 4,250 2,230 2230 | FF=
JBR SRR
=i 9,840 9,740 9,700 9,700 8,310 8,030 8,030 8,030 8,030 6,530 5,910 5,750 4,120 2,230 2,230 =1l
=M | 10,110 | 10,010 | 9,800 9,800 8,410 8,410 8,030 8,030 8,030 6,530 5,910 5,750 4,120 2,230 2,230 2230 | =M
£iR 10,110 | 10,010 | 10,010 | 9,800 8,410 8,410 8,410 8,410 8,030 6,530 6,360 5,750 4,120 4,120 2,230 2,230 2,230 £iR

KOREDEIZIT, AIBRREENVRELLGYFET,

2/5R=




A2 eEoSILEFER) SRIEA (BA:M) [202243A12BR A5 H 5]

WISUOSAA: KA

— k4 == Ll /N —_ = N k4 i 'l\
mE | tH | kE | R AE | e | BB gun | paw | rm | B% | s | TEY
AT % s
=Y 18,920 18,710 18,060 18,060 16,670 16,670 15,780 15,780 15,780 14,280 13,520 13,520 8,410 KAl
=5 =5
FI= 19,250 19,030 19,030 18,390 17,000 17,000 17,000 17,000 16,110 14,610 14,610 14,280 8,410 8,410 FZE=HA
an ax
E 21,080 20,870 20,790 20,790 19,400 18,840 18,840 18,840 18,840 17,340 16,110 15,780 10,680 8,410 8,410 =1
= 21,620 21,410 20,990 20,990 19,600 19,600 18,840 18,840 18,840 17,340 16,110 15,780 10,680 8,410 8,410 8,410 ES =
£iR 21,620 21,410 21,410 20,990 19,600 19,600 19,600 19,600 18,840 17,340 17,000 15,780 10,680 10,680 8,410 8,410 8,410 £iR
NEEBEDRIZIE, JIRBEENDLELLYET,
WIS 95ARIMNR
= k4 = PR —_ %7 o - AN
wE | kB | kT | R RE | o | RPR | gun | gpaw | rm | £ | g | TEP
T % b
LAl 16,390 16,290 15,960 15,960 14,570 14,570 14,130 14,130 14,130 12,630 12,250 12,250 7,470 KAl
=5 =5
E]H'-f—% 16,560 16,450 16,450 16,130 14,740 14,740 14,740 14,740 14,290 12,790 12,790 12,630 7,470 7,470 E]H'-';r_f
as as
=1 18,220 18,120 18,080 18,080 16,690 16,410 16,410 16,410 16,410 14,910 14,290 14,130 9,360 7,470 7,470 =1
| 18,490 18,390 18,180 18,180 16,790 16,790 16,410 16,410 16,410 14,910 14,290 14,130 9,360 7,470 7,470 7,470 e
iR 18,490 18,390 18,390 18,180 16,790 16,790 16,790 16,790 16,410 14,910 14,740 14,130 9,360 9,360 7,470 7,470 7,470 %R

KOREDEIZIT, AIBRREENVRELLGYFET,

3/5R=




A2 eEoSILEFER) SRIEA (BA:M) [202243A12BR A5 H 5]

W SU)FR— KA

Y Z L -2/ E—3 %7 N Z ( 'l\
mE | tH | kE | R AE | e | BB gun | paw | rm | B% | s | TEY
AT % s
=Y 14,740 14,530 13,880 13,880 12,490 12,490 11,600 11,600 11,600 10,100 9,340 9,340 6,320 KAl
=5 =5
FE 15,070 14,850 14,850 14,210 12,820 12,820 12,820 12,820 11,930 10,430 10,430 10,100 6,320 6,320 FZ=A
an ax
E 16,900 16,690 16,610 16,610 15,220 14,660 14,660 14,660 14,660 13,160 11,930 11,600 8,590 6,320 6,320 =1
= 17,440 17,230 16,810 16,810 15,420 15,420 14,660 14,660 14,660 13,160 11,930 11,600 8,590 6,320 6,320 6,320 ES =
£iR 17,440 17,230 17,230 16,810 15,420 15,420 15,420 15,420 14,660 13,160 12,820 11,600 8,590 8,590 6,320 6,320 6,320 £iR
NEEBEDRIZIE, JIRBEENDLELLYET,
BTSSR —REIMNR
= k4 = PR —_ %7 o - AN
wE | kB | kT | R RE | o | RPR | gun | gpaw | rm | £ | g | TEP
T % b
LAl 12,210 12,110 11,780 11,780 10,390 10,390 9,950 9,950 9,950 8,450 8,070 8,070 5,380 KAl
=5 =5
FE 12,380 12,270 12,270 11,950 10,560 10,560 10,560 10,560 10,110 8,610 8,610 8,450 5,380 5,380 FI=
as as
=1 14,040 13,940 13,900 13,900 12,510 12,230 12,230 12,230 12,230 10,730 10,110 9,950 7,270 5,380 5,380 =1
e 14,310 14,210 14,000 14,000 12,610 12,610 12,230 12,230 12,230 10,730 10,110 9,950 7,270 5,380 5,380 5,380 e
iR 14,310 14,210 14,210 14,000 12,610 12,610 12,610 12,610 12,230 10,730 10,560 9,950 7,270 7,270 5,380 5,380 5,380 %R

KOREDEIZIT, AIBRREENVRELLGYFET,

4/5R=T




A2 eEoSILEFER) SRIEA (BA:M) [202243A12BR A5 H 5]

WMEHER: XA
— %z N 2 K '\
wm | £ | xzm | ge | 2E | me | BPR | aanr | gax | tm | £w | g | TEY
BfgH % =
%)l | 5050 4,840 4,190 4,190 4,190 4,190 3,300 3,300 3,300 3,300 2,540 2,540 880 Al
25 2
FE 5,380 5,160 5,160 4520 4520 4520 4520 4520 3,630 3,630 3,630 3,300 1,870 880 Z=ZHR
BR =
= 5,710 5,500 5,420 5,420 5,420 4,860 4,860 4,860 4,860 4,860 3,630 3,300 2,640 1,870 880 =
HEE | 6,250 6,040 5,620 5,620 5,620 5,620 4,860 4,860 4,860 4,860 3,630 3,300 2,640 1,870 1,870 880 = il
£iR 6,250 6,040 6,040 5,620 5,620 5,620 5,620 5,620 4,860 4,860 4520 3,300 2,640 2,640 1,870 1,870 880 £iR
XCRBEOEICE. EREENDEELYET .
WMERBFERH:/MNR
e 2 = PR —_ %7 o - i il
wm | £®m | xm | & AE | oy | BPE | g | gae | tm | By | gy | TEY
BiiH % =
KAl | 2520 2,420 2,090 2,090 2,090 2,090 1,650 1,650 1,650 1,650 1,270 1,270 440 BN
25 2
FIs 2,690 2,580 2,580 2,260 2,260 2,260 2,260 2,260 1,810 1,810 1,810 1,650 930 440 FE
JBR SRR
=i 2,850 2,750 2,710 2,710 2,710 2,430 2,430 2,430 2,430 2,430 1,810 1,650 1,320 930 440 =
#HaEm| | 3,120 3,020 2,810 2,810 2,810 2,810 2,430 2,430 2,430 2,430 1,810 1,650 1,320 930 930 440 e
&R 3,120 3,020 3,020 2,810 2,810 2,810 2,810 2,810 2,430 2,430 2,260 1,650 1,320 1,320 930 930 440 £iR

KOREDEIZIT, AIBRREENVRELLGYFET,

5/5R=T




